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Question No. 1

Simplify: (V8- 248 )

A) B)
18+2:12 18-24/12

C) D)
18+122 18-1242

T Fifar: (JE-Q\E]‘

A) B)
18+212 18-2412
C) D)
184122 18-122
Answer Key : D Your Response : Not Answered

Question No. 2
Which agent produces a local or general loss of sensation?
A)Anaesthetic B)Oxygen
C)Glucose D)Blood

FieT AT AAFHIF TUENT AT AT HASAT-gI 3T T 87

A)fadd® (Anaesthetic) B) 3itarefistet
C)7egehist D)ereT
Answer Key : A Your Response : A (Correct)

Question No. 3

According to Mendeleev's periodic law, the elements were arranged in the periodic table in the order of-  Top
A)lncreasing atomic masses B)Decreasing atomic masses



C)Decreasing atomic number D)Increasing atomic number

#selld & e e & IE[ER, deat @ 3Ee §Rot 7 & IMUR W qafyd fFr ar=r ol
A)TEd AT GeIHTA B)ged WA gedHl

C)ged AT Hich D)Sed TRAT] halih

Answer Key : A Your Response : D (Wrong)

Question No. 4
In the given figure, the circle represents educated, rectangle

represents unemployed, and square represents villagers. Which region
represents villagers and educated but not an unemployed?

L2

c) D)

& T ARl H, Joa MiEET & AN war 3 SUSER #@
‘ T WHTT F FEOT war F1 wiT W oaT

6 ]
A) 5 B)
3
C D
) ) 1
4
Answer Key : D Your Response : C (Wrong)
Question No. 5
Lactose is composed of and glucose.
A)Fructose B)Sucrose
C)Galactose D)Maltose

Top



AR R TS ¥ & B B
A) el
C)dererrsr

Answer Key : C

What is the LCM of 6(xy - y), 8 (x*y - xy)?
A)24 xy (x*-1)
C)24 (x -1)

Your Response : D (Wrong)

Question No. 6

B)(x®*- 1) xy
D)24 xy

6(xy - y), 8 (Y - xy) # H.9.9. (LCM) 7ira fifow|

A)24 xy (x3 - 1)
C)24 (x® -1)
Answer Key : A

B)(x® - 1) xy
D)24 xy

Your Response : A (Correct)

Question No. 7

Find the smallest three-digit number that is exactly divisible by 12, 15 and 24.

A)360
C)180

B)120
D)240

T it r 97 B8 ¥ B WA A AP, S 12, 15 3R 24 F qoiar Ry @

A)360
C)180
Answer Key : B

Simplify: cos(30° - A) - cos(30° + A)
A)cos A
C)sin A

T AT : c0s(30° - A) - cos(30° + A)
A)cos A

C)sin A

Answer Key : C

Sound fravels in a medium as a-
A)Straight line

B)120
D)240

Your Response : B (Correct)

Question No. 8

B)(1/2)sinA
D)2sinA

B)(1/2)sinA
D)2sinA

Your Response : Not Answered

Question No. 9

B)Series of compressions and rarefactions

C)Beam D)Particle

eafy Ry ofr ey oF & ¥ # FuiRa & 81

A)ee Y B)&disHt v et S swer
C)feror D)sor

Answer Key : B

Your Response : B (Correct)

Question No. 10

The reaction of sodium sulphate and barium chloride solution is an example of-

A)Double displacement reaction
C)Single displacement reaction

B)Endothermic reaction Top

D)Exothermic reaction



AT Fehe 3 IR FeiREs Ao fr RfmT T TH IETe0T ¢l

Acfafarare sifafsar B)FeAT 3iffeRar
C)uerer faramder 3ifaiferar D)Fsamerdr rfAferar
Answer Key : A Your Response : A (Correct)

Question No. 11
Who was the Governor General of India during the Sepoy Mutiny?
A)Lord Canning B)William Bentinck
C)Robert Clive D)Warren Hastings

Ry fele & SR SR 1 TSR FeRe BT Ar?

A)STE i B)faferae dfesm
CRIa¢ Forsa D)anreT gicsd
Answer Key : A Your Response : A (Correct)

Question No. 12
A trader makes a profit by selling goods at a profit of 20%. He also uses weights that are 20% less. What is
his actual gain per cent?
A)50% B)25%
C)60% D)40%

TH SN 20% & 18T G HIEART 9 oIS AT ¢l $6h T & 98 W aiet 1 I7=hr Faw §, sir 20%
FH §| 3T RSP QAT I AT Pl

A)50% B)25%
C)60% D)40%
Answer Key : A Your Response : Not Answered

Question No. 13
The Government of India designated 29 June every year as 'Statistics Day' in the memory of-
A)Radhakamal Mukerjee B)Prasanta Chandra Mahalanobis
C)Shakuntala Devi D)Dhananjay Ramchandra Gadgil

HRT TWHER & T 9§ 29 ST F1 frehr I1g F wifeahr Raw F & F aff frar an

A)TTETehE @S B)Weld dg Hgleallied
C)2rehetelr & D)ot AT Insfarer
Answer Key : B Your Response : Not Answered

Question No. 14

Complete the series.

7, 35, 33, 63, 60, 92, (..)
A)69 B)74
C)88 D)81

Top



rofr it gt Y

7, 35, 33, 63, 60, 92, (.)

A)69 B)74
C)88 D)81
Answer Key : C Your Response : Not Answered

Question No. 15
Captain Amarinder Singh is the present Chief Minister of-
A)Odisha B)Sikkim
C)Rajasthan D)Punjab

¥t IR Rig & FAAT FEIHA

A)3ifsem B)RfFse
C)Tr=redTeT D)dsTTa
Answer Key : D Your Response : C (Wrong)

Question No. 16

Find the wrong number in the following series.

6, 12, 21, 36, 56, 81

A)56 B)36
C)21 D)12
faf@a Aot F Irea dear A Al

6, 12, 21, 36, 56, 81

A)56 B)36
C)21 D)12
Answer Key : D Your Response : D (Correct)

Question No. 17

44 4 0.4 . .
IXpress — %+ — %+ % T
Express — %+ —%+ "% in decimal form
2 3]

2

A) B)

0.0896 0.0968

Top



C) D)

0.0888 0.0958

f+0:s~a N ZHAT T & T H =gFd Ffarw]

A) B)
0.0896 0.0968
C) D)
0.0888 0.0998
Answer Key : B Your Response : B (Correct)

Question No. 18
If the selling price of an article is Rs.240, the profit is 20%, then for how much should it be sold, if the profit is
to be 30%?
A)Rs.280 B)Rs.200
C)Rs.260 D)Rs.300

i Rl avg 1 5T e $.240 €, 3R osr 20% @1 o 30% T IeT e F AT ¥ BFW qer WA
ST feT?

A)%.280 B)%.200
C)%.260 D)%.300
Answer Key : C Your Response : Not Answered

Question No. 19

Choose the alternative that best replaces the question mark(?) in the

given figure.
6 | 5 4
11 9
? | b6 33
A __ B)
{D

Top



C) D)

30 e & T3 F, S WFHT H 9T FEd () 7 T W
A % AT Wafead 39 21

6| 5 | 4
11, 9
? | B6 33
N B)
" r
95
C D
) ) 65
85
Answer Key : C Your Response : Not Answered

Question No. 20
Divide Rs.305 in three parts, so that 3/7 of the first, 2/3 of the second and 4/5 of the third are equal. Find the
share of the third one.
A)Rs.62 B)Rs.72
C)Rs.75 D)Rs.40

¥.305 Y 3W YHR et ARiF ¥ ST Ft @5 gger #7377, gEX #2273 AR Y T 4/5 R g AR @
Rear AT FE

A)%.62 B)%.72
C)%.75 D)%.40
Answer Key : C Your Response : Not Answered

Question No. 21

An aqueous solution turns red litmus solution blue. Excess addition of which of the following solutions would

reverse the change?
A)Ammonium hydroxide solution B)Lime
C)Hydrochloric acid D)Baking powder

TF S fAegs, de foeAd & Qg & sfier ax aar &1 Aef@a & ¥ rasr Rega Aaa W 98
gRede AT g seen?

A)IAATH gregiearss Ao B) T
C)eTsaiFellNeh 3ol D)afeer uzst
Answer Key : C Your Response : C (Correct)

Question No. 22 Top



Which of the following is a folk dance popular during the harvest season in Punjab?
A)Odissi B)Kathak
C)Bhangra D)Garba

Ul # 3fEreT FIeA & A fAFT F A FheT A Wl [T VoI 87

A)3nfeer B)&u®
C)mTET D)IRET
Answer Key : C Your Response : D (Wrong)

Question No. 23
A person fravels from P to Q at a speed of 50 km/h for 30 minutes. He then increases his speed to 60 km/h
and reaches his destination R in 20 minutes. What is his average speed for the whole journey?
A)70 km/h B)55 km/h
C)65 km/h D)54 km/h

U giad 50 el / er i I ¥ 30 AT HF P A Q dF &Y A[r ar g1 B 9g H9e Arer B dera] 60
Ry / der Far § 3R 20 @ee ¥ 9w e R 9F 9§ Ser §1 G A F QR 3w e are A
fifaw|

A)70 fasf/erer B)55 fnefi/eer
C)65 forat/ger D)54 feRett/aer
Answer Key : D Your Response : D (Correct)

Question No. 24

Which number will best complete the relationship given below?

120:168::288 : ?
A)360 B)362
C)359 D)358

o7 W e A R T e Y T A0 ¥ O S

120 : 168 :: 288 : ?

A)360 B)362
C)359 D)358
Answer Key : A Your Response : A (Correct)

Question No. 25
Which state lies to the east of Jharkhand?
A)Odisha B)Chhattisgarh
C)West Bengal D)Bihar

Top
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A)3nfsar B) Bl ddlg
C)ufes samer D)fER

Answer Key : C Your Response : C (Correct)

Question No. 26
What does the Ashoka's wheel in the Indian National Flag represent?
A)Wheel of peace B)Wheel of prosperity
C)Wheel of the law of dharma D)Wheel of authority

AR TS et 3 3T oo AT SRiielr §7

A)enifa & Tk B)@fg &1 Th
C)uH & fIIH &I T D)31fRIe &l <k
Answer Key : C Your Response : B (Wrong)

Question No. 27

Put the proper symbols +, -, X, + in the blank spaces to fit the equation.

(18_3)_7_15_5=0
A+, =, - + B)+, +, X, *
C)+, X, -, + D)+, -, X, -

FAFOT F HJford For & v R vt 3 3R R +, -, x, - 3 sl

(18 _3)_7_15_5=0

A+, =, - + B)+, +, X, +
C)+, X, -, + D)+, -, X, -
Answer Key : A Your Response : Not Answered

Question No. 28
In this question, statement is given followed by three conclusions. Choose the conclusion(s) which best fit(s)
logically.

Statement:
F<sH<J2V>E

Conclusions:

LH<V

I.LJ>E

. F<E

A)Only conclusion | is true B)Only conclusion Il is true

C)Only conclusion Il is true D)Only conclusions | and Il are true

Top



W W &, F FUT R ™ ¥ O o e ses Ru aw §) 3w st @ (3o et @) e S
I ¥ § T I9LFT B

HYeT:
F<sH<J=2V>E

ey

LH<V

ILJ>E

. F<E

A)dhael fassy | @gr B B)ahad sy || @& Bl
C)adr sy Il T &1 D)daer fasey | 3R 111 TEr g

Answer Key : B Your Response : B (Correct)

Question No. 29
A metallic sphere of radius 6 cm is melted and drawn into a wire, whose radius of cross section is 8 cm. What
is the length of the wire?
A)3.5 cm B)5 cm
C)4.5 cm D)4 cm

6 X PsTr arer v Ui F A HY NUAE TF R T4 S ¢, ST Sy @ fr s 8
AT ¥ AR Fr ciars Recedr 32

A)3.5 déeex B)5 HéreY
C)4.5 T D)4 F&HX
Answer Key : C Your Response : Not Answered

Question No. 30

Find the ODD one out from the given options.

A)LQO B)PUS

C)TYW D)ORT

fre a1e Rt # ¥ e Y

A)LQO B)PUS

C)TYW D)ORT

Answer Key : D Your Response : D (Correct)

Question No. 31

Which of the following is the cause of ringworm?

A)Virus B)Bacteria

C)Fungus D)Liverwort

PrAfafld &% ¥ Fi & g5 F FROT &7

A) fersop B)Sfrarey

C)®gar D)felaRae

Answer Key : C Your Response : C (Correct)

Question No. 32

Top



Complete the series.

11, 77, 38.5, 231, (...)

A)125 B)120
C)115.5 D)121.5
Sofr it qot

11, 77, 385, 231, (.)

A)125 B)120
C)115.5 D)121.5
Answer Key : C Your Response : Not Answered

Question No. 33
On increasing the temperature of solids, the kinetic energy of the particles-
A)First increases and then decreases B)ls constant
C)Increases D)Decreases

3t Fr AT o ), Foit fr s Far |

A)TE Fgdr § 3R 5T ge S § B)f&R Tl &
C)¥e e & D)geT SIdr &
Answer Key : C Your Response : B (Wrong)

Question No. 34
A hare spots a dog 100 m away and starts running away from it at 12 km/h. One minute later, the dog gives a
chase at 16 km/h speed. At what distance from the spot where the hare took to flight will the dog catch the
hare?
A)1100 m B)950 m
C)900 m D)1000 m

TFH GRS 100 R g TF Feod F G@ar ¢ 3R 12 Bl / der fr G F 3WR qT AT E WA §1 T
fAee e, Foar 16 Tl / der fr wrer F NST T YF T ¢l 50 T F el gfr | Fear 39 @enr
N GHT A, 6T W B o AR Y& fmar ar?

A)1100 #r B)950 #r
C)900 #Y D)1000 #r
Answer Key : A Your Response : A (Correct)

Question No. 35
When is 'World Ozone Day' observed?
A)January 15 B)April 25

C)December 16 D)September 16 Top



R N 9w’ Fa HAART 1T 87

A)15 SFsTalr B)25 3tder
C)16 fe&eR D)16 fadsx
Answer Key : D Your Response : D (Correct)

Question No. 36

Find the missing number in the following series.

13, 32, 24, 43, 35, (...), 46, 65

A)54 B)60
C)52 D)56
fArafaf@a Joft F o dear 7 fifswl

13, 32, 24, 43, 35, (..), 46, 65

A)54 B)60
C)52 D)56
Answer Key : A Your Response : A (Correct)

Question No. 37

What is the name of the observatory to study Saturn's moon and comets by NASA 2018 campaign?
A)W.M.Keck observatory B)Pioneer 10
C)Sofia D)Aryabhata space observatory

ST 2018 RN @R A & dger AR GFEFGHT F rewwT T F e vl derrer w1 a9 F=T F?

A)Sseg UH heh JLRITeIT B)9rIf=raR 10
C)afrar D)3Md#E 3idANET Jeremmer
Answer Key : C Your Response : Not Answered

Question No. 38
What causes decomposition of organic matter?
A)Bacteria B)Liverwort
C)Algae D)Virus

Arfaf@d & ¥ @l wr AT gerdt F sqgesT F FROT 72

A)siraro B)foeRac
C)garer D)fersor
Answer Key : A Your Response : B (Wrong)

Question No. 39

The force of attraction between all masses in the universe, especially the attraction of the earth's mass for
bodies near its surface is called-

A)Spring force B)Mechanical force

C)Gravitational force D)Friction force

Top



weAis ¥ W Gl F T O 9T ROT oo, R ¥ F A Ay v & 9w Rl Rt w g &
FSIANT SART WINT S arer YT el T AT FgT STl 87

A)FHAET el
C)ar&careh¥or Fol

Answer Key : C

B)ifae® e
D)ersouT sef

Your Response : C (Correct)

Question No. 40

What does the five interlinked rings in the Olympic flag represent?

A)Oceans
C)Mountains

3R tas ¥ WER 3 9T sed F4r i §7

A) TG
C)ader

Answer Key : D

How many squares are there in the given figure?

& 1§ iy F e 3= #2

Answer Key : A

B)Sports
D)Continents

Your Response : D (Correct)

Question No. 41

B
)18

D)

B
)18

D)

Your Response : A (Correct)

Top



Question No. 42

become the first police force in the country to digitise all malkhanas, rooms for keeping seized

arms and ammunition.
A)Delhi Police
C)Chennai Police

B)Bengaluru Police
D)Mumbai Police

, Sioct FRRIRT AR Tier-aree @ & AT w3 Wl Ao, Fut Fr RiSedeor S arer &

& gell el & =
A)feee gfera
C)de=is qiere

Answer Key : A

India's first self-made fighter jet is-
A)LCA Tejas
C)Dassault Rafale

B)arere gfer
B)E;CERNICE)

Your Response : Not Answered

Question No. 43

B)MiG-21
D)Dassault Mirage 2000

AR FT Ygell F-AfAT S oerg Reaer by @ &2

A)LCA asrH
C)zdlec Ithal
Answer Key : A

Bronze is an alloy of-
A)Zinc and iron
C)Tin and zinc

T Hr fReerg ¥
A)fSiF 3R 3IRRT
C)fest 3R =

Answer Key : B

What is reduced by a lubricant?
A)The smoothness of the surfaces

C)The shiny nature of the surfaces

T @RI o FH TRar ST §7?
A)Hdgi $r Rskerge
C)ucel H THFER

Answer Key : D

B)MiG-21
D)sdree fFRTT 2000
Your Response : D (Wrong)

Question No. 44

B)Copper and tin
D)Iron and mercury

B)dieT 3 feet
D)3meReT 3 7Y

Your Response : A (Wrong)

Question No. 45

B)The bright colours of the surfaces
D)The interlocking of the irregularities of the surfaces

B)Tdel & Taehlel 33T
D)&agl & fafAdanit Hr gexariar

Your Response : D (Correct)

Question No. 46

What is the valley (lowest portion) of a sound wave called?

A)Lowest
C)Highest

B)Crest
D)Trough

Top

tafey oot & ) (W AT $1eT) Y FAT FeET ST 87



A)faFTaA B)#9T(Crest)
C)3=dan D)3rd(Trough)
Answer Key : D Your Response : D (Correct)
Question No. 47
Which of the following does NOT increase while moving down the group of the periodic table?
A)Metallic character B)Atomic radius
C)Number of shells in an element D)Valency

e ARl & RRY Wop F A IR ) PRR@a F ¥ ST ar ad e §2

A)gTicash IoT B)wRaAT] Brsam
C)ferdll dea # el fr gear D)&IIsTehdr
Answer Key : D Your Response : C (Wrong)

Question No. 48

What is the unit of measurement of very long distances between celestial bodies?
A)Metres B)Miles
C)Kilometres D)Light years

mm*mﬁww@ﬁﬂmﬁwﬁwﬁ

A)AI B)#Hrer
C)feheitaiiex D)wenTer ay
Answer Key : D Your Response : D (Correct)

Question No. 49
Why does dispersion occur when white light which is a mixture of seven colours passes through a glass
prism?
A)7 colours of white light travels at different speedsB)7 colours are refracted at same speed.
through a glass prism
C)7 colours are reflected by prism D)The white light scatters the 7 colours throughout the
prism

59 QA W, S AT @it Por §, Fiw F Bewr F @R IoRar ¢ ar 3w aReoor w4t g §7
AT THIRM & 7 [T &g & Oed F FAI-3769T ATeB)7 W1 JAT I § 39afad 8id &l

¥ ToRd Bl
C)7 @1 WA gart wrafda g &1 D)edd vaTer, 7 TiF A QX Rsd F FRia e
Answer Key : A Your Response : D (Wrong)

Question No. 50
In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best fit(s)
logically.

Statement:
Money plays a vital role in our lives.

Conclusions:

I. The poor can never become rich.

II. All the rich men take part in politics. Top
A)Only conclusion [l follows B)Only conclusion | follows



C)Neither conclusion | nor Il follows

9 WA H, TH HYT & a5 ar sy Re aw § 39

ST B

HYeT:

mﬁmﬁwmmm

sy

I. e F3fr 3R €t o TepaTl

II. |efr AR <er ToEifar #F R A E
A)draer sy || greleT &dm B

C)el faseny | 3R o & I ITereT &t B

Answer Key : C

Which of these is NOT a blood group?
A)O
C)AB

5 & FleT W TH T THE AG &7
A)O

C)AB

Answer Key : D

D)Either conclusion | or I follows

B)dhael foaiseh¥ | uTeled AT gl
D)ar dr forsaw | A7 |l relet &t &1

Your Response : Not Answered

Question No. 51

B)A
D)C

Your Response : D (Correct)

Question No. 52

If A, B and C are three points on a circle, where BC is the diameterand

AC=AB = 5./2 cm. Find the radius of the circle.

A)

6 cm

)

% CIIl

B)

5cm

D)

4 cm

g A, B3R Ctvs g9 W g &= &g 8, =& BC=uw § 3w
AC=AB=5/2 & 81 7 Fr fF=ar a7 Hifaw

st @t (3 st ) o o A T A TR

Top



A) B)

6 THT 5 QAT
C) D)
B
N THT 4 THAT
Answer Key : B Your Response : Not Answered

Question No. 53
What is the difference between Compound Interest and Simple Interest on Rs.1000 at 10% after 4 years?
A)Rs.74 B)Rs.64.10
C)Rs.16.40 D)Rs.52

.1000 #r TR W 10% A 5T A 4 aF & VT Thqgfe sGr AR FYROT S=leT F AR AT A

A)s.74 B)%.64.10
C)%.16.40 D)%.52
Answer Key : B Your Response : Not Answered

Question No. 54
Which of the following laws states that electric current 'I' flowing through a metallic wire is directly proportional
to the potential difference V', across its ends provided its temperature remains constant?
A)Gauss' Law B)Ohm's Law

C)Newton's Law D)Pascal's Law

frafaf@a & & Fia ar e 75 R ¢ F B a9 «® Bl a1 $ - § T6 aelr Regd a/r 1 39%

Y F v Rsaior V & sregsmtieqared gl 872

AT T foga B)3iA & fa#

C)=ge & faga D)urEehel &1 foad

Answer Key : B Your Response : B (Correct)

Question No. 55
P is facing Q. Q is to the north of P. R is placed on right side of Q. What is the direction of R with respect to
P?
A)North west B)South west
C)North east D)South east

P,Qfr N Ag FAI g &l Q P ISR A AR FI R, Q F A 3R §1 P & ¥ R $r fzw =r §2

A)IcaR ufRas B)afaor ufeas
C)3ceR qd D)afaior g&
Answer Key : A Your Response : C (Wrong)

Question No. 56
Find the ODD one out from the given options.
A)House : Room B)Tree : Branch

C)Car : Engine D)Table : Chair Top



R a1 Rt % 2 IRiT B

A)ER : FHFRT B)Ug : TEeiT
C)#R : &fel D)ast : et
Answer Key : D Your Response : A (Wrong)

Question No. 57

: 2 1
If x+E =2, then find the value of x*+—.
X X

A) B)

C) D)

7 x%:g,a’r 41 A e fe
P X

A) B)
1 -2
C) D)
0 2
Answer Key : D Your Response : D (Correct)

Question No. 58

Which of these is a trace element?

A)Potassium B)Manganese

C)Sodium D)Magnesium

g ¥ T W U GRS a 57

A)areRrgs B)#HTirer

C)mifsga D)#HsAfaa

Answer Key : B Your Response : Not Answered

Question No. 59

Which harmone is produced by Islets of langerhans to control diabetes mellitus?
A)Ptyalin B)HCI

Top



C)Rennin D)Insulin

sRfde Affew & PRERT Fo § v 3gaed 3w dRET garT B gl 1 searesT fFar ST §7

A)erarferst B)HCI
C)fetet D)ggii=t
Answer Key : D Your Response : D (Correct)

Question No. 60

Which is the oldest hockey tournament in India?

A)Beighton Cup B)Nehru Cup

C)Ramaswamy Cup D)Durand Cup

R FT W [T i gevte Flor ar §?

A)diesT &9 B)alg® &T

C)ITHATEATH & D)g{s &9

Answer Key : A Your Response : Not Answered

Question No. 61
Simplify: 0.8 + 0.08 + 0.008 + 8
A)880.8 B)8.888
C)8.808 D)8.088

W HfSw : 0.8 + 0.08 + 0.008 + 8

A)880.8 B)8.888
C)8.808 D)8.088
Answer Key : B Your Response : B (Correct)

Question No. 62

Which element is the first element in the periodic table?

A)Helium B)Oxygen

C)Hydrogen D)Neon

TS RO F 9ger deq i G &7

A)giferas B) 3iferelistet

C)grs3iold D)f3itaT

Answer Key : C Your Response : C (Correct)

Question No. 63

Which of these plants has multi coloured leaves?

A)Jasmine B)Hibiscus

C)Tulsi D)Croton

gt ¥ P Y 3 -l o B 82

A)THT SREEIET:

C)Jerelr D)shiceT

Answer Key : D Your Response : D (Correct)

Question No. 64 Top



There are six members in a family. This year the father died and he has a son Ramesh, and a son is born to
Ramesh. The average age of the family is the same now as it was 10 years back. At what age has the father
of Ramesh died?

A)60 years B)50 years

C)64 years D)72 years

% IRER ¥ BF Fad §1 59 aF Far A 7 & 7§ AR 37 v J&T W §, AR Wr F o Fev Yy I
¢ IRaR Fr 3w IR 3T F@ §, Sir 10 aF gg A Tmr$ﬁm£rﬁm3ﬂg#§€%?

A)60 Ty B)50 a¥
C)64 ay D)72 a¥
Answer Key : A Your Response : Not Answered

Question No. 65

In the second quadrant, cos 0 varies from:

A)1/2 to -1 B)O to 1/2
C)0 to -1 D)-1 to 1

gAY It #, cos 6 & AW & dr g B

AY1/2 T -1 B)O & 1/2

C)0 & -1 D)-1 &1

Answer Key : C Your Response : Not Answered

Question No. 66

What is the concept of spherical mirrors?

A)Reflection of light B)Radiation of light
C)Scattering of light D)Refraction of light

el gJoT fir ITURYT =T §?

A)TRIRT ST IRIGcleT B)wenTeT & fafenor

C)JehTRT ST FehIoTeT D)WeRTeT T 39dciel

Answer Key : A Your Response : D (Wrong)

Question No. 67
Who was the first Indian male athlete to reach the final of an Olympic athletic event?
A)Michael Kindo B)Milkha Singh
C)Surjit Singh D)Ajit Pal Singh

3T Tyefes $dC & Pigeel A TguA AN Tg ARANT I TRIE FHler 17

A)ATSHhel fhar B)fear Rig
C)gRsia g D)3rsiia arer g
Answer Key : B Your Response : B (Correct)

Question No. 68

Simplify: 1.2-0.12

Top



A)

)

11/90

I ST 1.2-0.12

A)

C)

11/90

Answer Key : D

Complete the series.

CX, WP, UJ, SF, (...)
A)QD
C)RE

Aoy = qof ¥

CX, WP, UJ, SF, (.)
A)QD

C)RE

Answer Key : A

A)Madhya Pradesh
C)Maharashtra

B)

9/1

11/

B)

9/1

D)

11/

0

10

0

10

Your Response : Not Answered

Question No. 69

Your Response : Not Answered

Question No. 70

Which of these states was NOT divided in the year 2000?
B)Uttar Pradesh

D)Bih

af 2000 # 0T ¥ FlaT W1 T RswiorT w7t gIw AT?

ar



A)FET geRr B)3caX ol
C)HERTSE D)fER

Answer Key : C Your Response : Not Answered

Question No. 71
Find the value of 6 + 2 x (1 + 2).
A)3 B)1
C)6 D)9

6 + 2 x (1+ 2) F #ART AT NI

A3 B)1
C)6 D)9
Answer Key : D Your Response : D (Correct)

Question No. 72
IfA+B=C,D-C=AandE-B =C, then what does D + F stand for?
A)C B)J
C)Q D)E

IXA+B=C,D-C=AIE-B=C¢ a D + F & 30T R 8?2

A)C B)J
Cc)Q D)E
Answer Key : B Your Response : Not Answered

Question No. 73
If 'PALE' is coded as 2134, 'EARTH' is coded as 41590, how is 'PEARL' coded?
A)25430 B)25413
C)24153 D)29530

I 'PALE' & 2134 for@r T §, 'EARTH' &F 41590 for@r Siiem §, & 'PEARL’ & & for@r san?

A)25430 B)25413
C)24153 D)29530
Answer Key : C Your Response : C (Correct)

Question No. 74

Top



Read the following information carefully and answer the question given below.

Eight friends—P, Q, R, S, T, U, V and W are sitting around a circular table facing the centre. Each one of them
likes different brands of watch—Sonata, Titan, Fastrack, Swiss, Casio, Timex, Rolex and Fossil, but not
necessarily in the same order.

P sits third to the right of the person who likes Fossil. P does not like Fastrack. T is not an immediate
neighbour of W. R sits on the immediate right of the person who likes Fastrack. Neither P nor W likes Casio or
a Titan. The person who likes Casio is not an immediate neighbour of the person who likes Fossil. The person
who likes Sonata sits second to the left of T. The person who likes Sonata is an immediate neighbour of the
both persons who like Timex and Rolex. Person who likes Rolex sits third to the right of Q. Q does not like
Casio. U is not an immediate neighbour of P. V is not an immediate neighbour of the person who likes Sonata.
Only two people sit between the person who likes Rolex and W. The persons who like Casio and the Titan are
immediate neighbours of each other.

Who among the following likes Titan?
A)S B)R
C)V D)Q

ol STHerY F & & 9¢ 3K A RE 3w e & 3ca €|

36 @5 P, QR S, T, U, V3R W & qaar A F arf 3K Foafdege giav 85 §1 56t & o 915 o
& e st #r wig w=ar §, - A, age, FRess, ad, HRE, TedE, doww R wiide, AR
S A€t B oW P F

P 30 ufad & &1f 3K I T W 37 § O Wi s Wig §1 P Y PReds sis GG "G &1 T, W &
A P A A I R AR S Sr IR Tt P PRt as g gl AT PR T & P
HRAAT I e T B We WA ¢ O A o FRAY 79z w6y §, 95 39 AT F S T F ag dor
¢t O o #iz Wig &1 97 A O Wi i wig § 98 T & a1 3R gt Ve W dor §) s afea
WIET /i3 Y GHE FAGT 8, 98 37 ol AFadr & S Torel F qor ¥ S A 3K AT 7T A Wi
A §1 o s TG T arell ufed Q F a8 AW I T W o1 1 Q, HRAA iz r Wig A Far
21U, P& 8% 991 3 =f dor §1 V 39 AT & S 91 F igf do7 & S Wier s Fr WG I gl
A Fis T T g/ AT 3R W & T Faer & o 35 &1 O il #F $Rr 3k agea s
TG §, ¥ THGE & O aore i 35§

PfRfRd ¥ ¥ #iF ame sz Fr wHg Far &7

A)S B)R
C)V D)Q
Answer Key : D Your Response : Not Answered

Question No. 75
The negatively charged ion is known as-
A)Anode B)Cathode
C)Anion D)Cation

HOTcHS AR 3T S 4T AT 872

Top
A)THAE B)Fuis



C)®H0mI=T(Anion) D)&r=ma=1(Cation)
Answer Key : C Your Response : D (Wrong)

Question No. 76
In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statements:
1) All fruits are baskets.

2) Some baskets are jars.

Conclusions:
|. Some jars are baskets.
Il. No basket is fruit.

A)Both conclusions | and Il follow B)Only conclusion | follows
C)Only conclusion Il follows D)Neither conclusion | nor Il follows

3 e #, 2 FYel & 915 o fsd R v §) 3w et (6f) Fr e S o $9 @ wE 39T @l

1) wsht &, AF E

2) 6 AF, SR

forene:
. & SR A

Il F& 2 BT A
A)eret sy | 3R 11 3uged gl B)&aer ey | 3uged gl
C)Fae forsany Il 39 gl D)aT @ foTs&y | &1 & 1l 39 g

Answer Key : B Your Response : B (Correct)

Question No. 77

Top



Evaluate: [‘ﬁ_"LlT + { V3-1 T
J3-1 J3+1

A) B)

C) D)

14 24

o [2]-£3]

J3-1 341
A) B)
12 16
) D)
14 24
Answer Key : C Your Response : Not Answered

Question No. 78

Which of the following fuels is NOT used in thermal power plants?
A)Fuel ol B)Natural gas
C)Uranium D)Coal

el & & B St & 3w A Rgge d4Et F 7@ R S 87

A)SEe A B)wrpfareh I
C)fags D)
Answer Key : C Your Response : B (Wrong)

Question No. 79
While executing a job, what 20 women can do in 16 days will be done by 16 men in 15 days. Find the ratio of
capacity of a man to that of a woman.
A4 :3 B)5:6
C)3:4 D)6:7

o Fd, B 20 ARTE 16 Rt # # Tl € 3% 16 Tout @Ry 15 Rt F qof R s §1 v o 3,
U AT HY &AM FT AT AT ATl



A4 : 3 B)5 : 6
C)3: 4 D)6 : 7

Answer Key : A Your Response : Not Answered

Question No. 80
P, Q and R work together to finish a work. P and Q finish 70% of the work while Q and R finish 50% of the
work. Who will finish first, if they work alone?
A)Cannot be determined B)P
C)Q D)R

P, Q 3k R fAaaR v 17 1 QU W §1 P 3K Q, 70% F# @ = ¢, S&fd Q AR R, 50% FA
GH T g1 ARG T HHel-3hel FA A ¢, f FaW Tg DleT HIH BN T FWIM?

A)eiRa w7 fRam S Fehar B)P
c)Q D)R
Answer Key : B Your Response : Not Answered

Question No. 81

Which of the following is a reproductive cell?
A)Lymphocytes B)Gamete
C)RBC D)WBC

faf@a & & Fi @ v Yo FIRT §?

A forFwrarse B)geHh
C)RBC D)WBC
Answer Key : B Your Response : B (Correct)

Question No. 82
Two numbers differ by 1365. On dividing the larger number by the smaller, the quotient and remainder got are
6 and 15 respectively. Find the larger number.
A)270 B)1095
C)1784 D)1635

A dEad 1365 ¥ BieeT gl &1 o9 dEwr A A ¥ R | |, Aered 3R Auwe FAer: 6 3K 15
Wi 8T §1 99 TS AT fifel

A)270 B)1095
C)1784 D)1635
Answer Key : D Your Response : Not Answered

Question No. 83
A cone is 32 cm high and the radius of its base is 8 cm. It is melted and recast into a sphere. Find the radius
of the sphere.
A)2.5 cm B)4 cm
C)6.5cm D)8 cm

T AT Fr F$ 32 Jh AR S MUK Fr B 8 W §1 50 Ruaw v ey ¥ F5er Sar g1 59 A
&1 fswr A fifSw)

A)2.5 HEHRY B)4 HEHRY

C)6.5 TR D)8 FeEHex Top



Answer Key : D Your Response : Not Answered

Question No. 84
Which of the following cities became the first to launch a 24x7 Ultra Low Emission Zone (ULEZ), inside which
vehicles will have to meet emission standards or face a charge?
A)Sydney B)Chennai
C)London D)Washington

PArfaf@d & ¥ i a1 T 24 x 7 3T o UARE AT (ULEZ) dica e arel JgdT e & 9T, foras
3T aAgwT B SCHSNT ATH! B G FTAT G AT T TN T Yo FHI Faled AT grome

A fassr B)deaTs
C)sicet D)aTRIaTesT
Answer Key : C Your Response : Not Answered

Question No. 85
A son's present age is two-fifths of his mother's age. After 8 years, he will be one half his mother's age. What
is his mother’s age now?
A)40 B)50
C)42 D)36

T 9T B TR AR, SEH Al B I Fr 25 §1 8 A WG, 3WAr Y, IWHr Al A g Fr smedr e

S i B T 3 Rreh 87

A)40 B)50

C)42 D)36

Answer Key : A Your Response : Not Answered

Question No. 86

Which of these fractions cannot be reduced further?

14/21, 33/43, 18/24, 92/24, 41/82
A)33/43 B)41/82
C)92/24 D)18/24

T 3 ¥ R BT 3 3R 3110 e i€ R ST T §7?

14/21, 33/43, 18/24, 92/24, 41/82

A)33/43 B)41/82
C)92/24 D)18/24
Answer Key : A Your Response : B (Wrong)

Question No. 87

Acidic solutions in water conduct electricity because they produce-

A)Sulphide ions B)Chloride ions
C)Hydrogen ions D)Hydroxide ions
a7 @i sl e % Rgge vaite &l €, Fifs oot 3c9eet B ST ¢

A)HEHISE AT B)FARISE 3TdeT Top



C)gTeaistel 3TeT D)gTsgidIss A
Answer Key : C Your Response : D (Wrong)

Question No. 88

Find the ODD one out from the given options.

A)40 B)80

C)79 D)20

R a1 Repedt 3 ¥ IR A

A)40 B)80

C)79 D)20

Answer Key : C Your Response : C (Correct)

Question No. 89
Two numbers have their LCM and HCF to be 693 and 11 respectively. If one number is 99, find the other
number.
A)79 B)12
C)34 D)77

ar deanit & S.@.9(LCM) HR AFIHCF) Faer: 693 3R 11 §1 IR wF wear 99 §, o qudr d&r A
fafawl

A)79 B)12
C)34 D)77
Answer Key : D Your Response : D (Correct)

Question No. 90
If in a certain code "YELLOW is written as XFKMNX', how is 'BORDER' coded?
A)AQPESD B)APSEFS
C)ANSCFQ D)APQEDS

IR v ARG Feam # YELLOW & 'XFKMNX T Siier &, ¥ gesmw # 'BORDER' & &% fovar
SRm?

A)AQPESD B)APSEFS
C)ANSCFQ D)APQEDS
Answer Key : D Your Response : D (Correct)

Question No. 91

Bohr's orbits are called stationary, because-

A)Protons remain in the nuclei and are stationary B)Electrons in them are stationary

C)Their orbits have fixed radii D)Electrons in them have fixed energy

X Fr Famsit Fr U =t Far Swer §?

A)Wela 8w & T|a & 3l Rew i & B)&Iifh 31 Al Felaclad R g &
C)zedr Famait #1 fysa fad g @ D)3+ Fiog saweidt # MRad o e &
Answer Key : D Your Response : A (Wrong)

Question No. 92
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Which number will best complete the relationship given below?

7:64::8:7?
A)81 B)80
C)79 D)82

7 W e A R AT T A w0 ¥ O i

7:64:8:7

A)81 B)80

C)79 D)82

Answer Key : A Your Response : C (Wrong)

Question No. 93
Which of these is used to break the circuit or to close the electric circuit?
A)Bulb B)Cell
C)Switch D)Wire

gt & Frae 3wier aRuy #r RedRa a1 Ry Ruy 7 45w & Qe R s 82

INECE B)dedr
C)Feaw D)darR
Answer Key : C Your Response : C (Correct)

Question No. 94
If (1 +tan A) (1 + tan B) = 2, then find A + B.
A)180° B)90°
c)o° D)45°

I (1 + tan A) (1 + tan B) = 2 &, & A + B & AT AT AT

A)180° B)90°
C)0° D)45°
Answer Key : D Your Response : D (Correct)

Question No. 95

If north east becomes west and south east becomes south and so on, what will be the west?
A)South east B)North east
C)North west D)South west

iy e’ qd, 9t @ Simar ¢ 3ik aftor qd, ST & sar §, & aRest = gem?

A)efaroT ga B)3cek q@
C)3cR giaH D)afaior ufeas
Answer Key : B Your Response : B (Correct)

Question No. 96 Top



At what rate per cent will a sum of money double itselfin 30 years?

A) B)
8% 3lo
4
C) D)
319 31y
3 2

R Wfeverer st Y &7 9T TR 30 At & T B A @

SATTEA?
A) B)
3% 31
4
c) D)
3 l % 3 l %
3 2
Answer Key : C Your Response : C (Correct)

Question No. 97

Read the following information carefully and answer the question given below.

Eight friends—P, Q, R, S, T, U, V and W are sitting around a circular table for a meeting facing center. P is
second to the right of V who is third to the right of Q. S is second to the left of U who sits between V and P. R
is not a neighbour of Q or T.

Who is third to the right of V?

A)Q B)R
C)W D)T

Top



PArfRfad STHeRY A &4 ¥ 9¢ 3K T Re 3w v & 3w |

36 Ak P, Q, R, S, T, U, V 3k Wt AIfder & Riw v gaR A7 & 9rt 3R it s 33 §)
PVHFE NI AT RITENQF B NI TN AT R AT S, UF o 3k & g
WARISTENVIRPF AT TR R, QA T F 01T 7 7787 37 81

V F a5 3K @ Y VI W FleTr da7 87

A)Q B)R

ow D)T

Answer Key : B Your Response : Not Answered

Question No. 98

Which acid is present in sour milk?

A)Citric Acid B)Acetic Acid

C)Glycolic Acid D)Lactic Acid

G2 qU # FleT A 3 Hiepg @ 87

A)fafee 3rFer B)ufafes 3rFer

C)Ieghifera 37edl D)cifdesd 31Fer

Answer Key : D Your Response : D (Correct)

Question No. 99

Find the missing group of alphabets in the following series.

WO, CJ, HF, (...), RA
A)PD B)MC
C)AR D)FC

fRrfaf@e Aol F 3R & i wE 1 A w4

WO, CJ, HF, (.), RA

A)PD B)MC
C)AR D)FC
Answer Key : B Your Response : Not Answered

Question No. 100
P invests Rs.3500 in a business. After 5 months, Q joins him with some investment. If the profit that Q gets is
50% more than that of P, then find the investment of Q.
A)Rs.9000 B)Rs.5000
C)Rs.7000 D)Rs.6500

Top



P & sqaarT # £.3500 FT & Far #1 5 7@ & @6, Q $5 BAw F W 39F Wy s ¥ Ak Q A
TR arem ot P % Wt & 50% 3f0F &, ar Q Fr fder e A

A)%.9000 B)%.5000
C)%.7000 D)%.6500
Answer Key : A Your Response : Not Answered
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